Tr-

GREAT LAKES POWER PRODUCTS
GLMM MANUFACTURING PARTS SURPLUS SALE

Contact Great Lakes Power Products for special pricing and availability!
LOT AND VOLUME DISCOUNTS AVAILABLE!
Stephen Allen
Office phone: (440) 951-5111
sales@glpower.com
View more of our surplus inventory at
www.glpower.com

Part Number Description On Hand
14105 3/8-16X1 HHCS GR8 PLAIN 4
14160 7/16-14X1.75 HHCS GR8 PLAIN 105
14311 5/8-11X2 HHCS GR8 PLAIN 188
23409 1/2-13X1.5 SHCS GR8 2
33081 3/8 FLATWASHER SAE 43
33115 3/8 FLATWASHER HARDENED 42
33816 FLATWASHER 7/16 SAE 2
33817 1/2 SAE FLAT WASHER HARDENED 65
63126 CABLE TIE 7 1/2" 18
63128 CABLE TIE 11" 23
63130 CABLE TIE 14 1/2" 61
66228 ELBOW 16
66229 ELBOW 1
66285 BUSHING REDUCER; 1/4X1/8 1
66290 BUSHING REDUCER 3/4-3/8 PIPE 8
66307 BUSHING REDUCER 3/4X1/4 12
100039 ROLLER 2
100129 ADAPTER ISUZU 3 21
100148 RING-PERKINS TO CAT CONV 18
100186 YOKE; JOY TECH. P/N 3564885-13 34
100189 JOY MINING P/N 3564885-0012; YOKE 7
100312 INTERNAL SPLINED HUB 10
100316 TAPERED EXTERNAL SPLINED HUB; OBSOLETE 1
100329 SUPPORT PLATE/WITH ANGLE IRON; IBF318 OR IBF321 1
100329 SUPPORT PLATE/WITH ANGLE IRON; IBF318 OR IBF321 1
100330 SUPPORT PLATE/WITH ANGLE IRON; SP318 1
100330 SUPPORT PLATE/WITH ANGLE IRON; SP318 1
100330 SUPPORT PLATE/WITH ANGLE IRON; SP318 1
100365 LOCKNUT 6
100383 FLANGE 3
100393 TROLLING VALVE LEVER BRACKET; <WELDMENT> 1
100537 PIN 22
100543 ADAPTER RING, 8" TO 11-1/2"; FOR MG5050/MG5061 SER 8
100635 COTTERPIN 7/64 X 1 24
100664 BRACKET, MG5091 1
100837 JAD 3, ADAPTER ASSY; (LESS DAMPERS) 6
100988 HUBER, HUB, FLYWHEEL ADAPTER 2
100989 HUBER, ADAPTER, DRIVE RING 2
101161 BRACKET, LH/RH, MG507; 30" CENTERS 1
101182 PTO MOUNT, 9 TOOTH DRIVE; ADAPTER, SAE "A" 6
101185 PTOKIT, 4 TO 2 BOLT ADAPTER; SAE "A" 6
101196 BACK PLATE FOR MG5111(DC) FOR; KIT 101005 36
101436 BRACKET ASSY. RH MG5061; 28"-29" CENTERS 1
101459 SCX BUSHING, SWING ARM MAGMA; (STEEL) 2
101459 SCX BUSHING, SWING ARM MAGMA; (STEEL) 2
102605 SCX GLAND, HOIST CYL 5
102605 SCX GLAND, HOIST CYL 5
102691 BRACKET, CONTROL BOX; SOUTHWORTH 17
102721 BRACKET, CONTROL BOX; SOUTHWORTH 18
102816 LEVER, THROTTLE POSITION; RINGHAVER 133
103258 BEARING REDUCER (311-309) 1
103576 DUTCHMAN SPACER 9.172"; MG5202DC TO MG527 1
103576 DUTCHMAN SPACER 9.172"; MG5202DC TO MG527 1
103633 ADAPTER, 1-0 SPACELESS 1
103733 ADAPTER, SPOOL; PROPRIETARY TO CARTER MACHINER 1
103734 ADAPTER PLATE; PROPRIETARY TO CARTER MACHINER 1
103746 NAME PLATE-CLARK HURTH; USE WITH 000207873000 SCRE 46
103746 NAME PLATE-CLARK HURTH; USE WITH 000207873000 SCRE 22
103747 FLYWHEEL (CARTER) SPECIAL; PROPRIETARY TO CARTER M 1
103748 HUB (CARTER) SPECIAL; PROPRIETARY TO CARTER MACHIN 2
103772 COVER PLATE; UNITED TRACTOR 7
103775 FUEL SUPPLY TUBE; UNITED TRACTOR 3
103776 TUBE; UNTIED TRACTOR 6
103796 UNITED TRACTOR , CLUTCH HOUSIN 4



103796 UNITED TRACTOR , CLUTCH HOUSIN
103812 BRACKET ASSY, RH

103819 BEARING REDUCER (307-306)
103836 SPRING

103852 BRACKET KIT , IRM280PL (CAT)
103910 GLPL, PIVOT BLOCK

103911 GLPL, PIN

104050 SPRING

104052 BOLT

104055 RIVIT

104118 KEY 3/8" X 7/16" X 2 1/2"

0107-2-2 SWIVEL FITTING

100884M BRACKET KIT,MG5111 SC; NO HARDWARE
H-13 7/16-14X1 1/2 HHCS; GR. 5

H-14 7/16X14 LOCKNUT; NYLON INSERT
H-15 1/2-13 X 3/4" S.H.S.S.; CUP POINT (BLACK)
H-16 7/8-14X2 1/2, GRD 5 HEX HD CAP
H-17 7/8-14 LOCKNUT NYLOK; GR. 2

H-24 3/8-16 X 1 3/4 HHCS GR.8

H-25 3/8-16 LOCKNUT

H-26 3/8-16 X1/2" CUP PT. SETSCREW
H-27 7/16-14X4" HHSC GR.5

H-32 3/4-10X2 1/4 HH CAP; GR. 8 PLAIN
H-41 3/4 HARDENED FLAT WASHER, SAE
H-42 3/4-10 LOCKNUT

H-45 7/8-9X2 HEX BOLT GR. 8

H-46 7/8 LOCKWASHER

H-47 1/2-13X1 1/2 HHCS GR8 PLAIN

H-48 3/4-10X2 HEX GR. 8

H-49 5/8-11 LOCKNUT

H-50 5/8 FLATWASHER HARDENED

H-57 1/4-20X1.25 HHCS GR5 PLAIN

H-58 1/4-20 NUT

H-6 5/8-18X2 HH CAP GRADE 5

H-63 M16-2X90MM HHCS GR 10.9

H-66 1/2-13 X 2.00 HHCS GR8 PLAIN

H-67 M16-2X55MM HHCS GR 10.9

H-7 5/8-18 LOCKNUT GR.5

H-73 M12-1.75X35MM HHCS

H-74 M12 LOCKWASHER

H-77 5/8-11 LOCKNUT TOPLOCK

H-79 DOWEL PIN 1/2 X 1"

M27X3/4F80OHG ADAPTER M27X2 MALE - 3/4 PIPE; FEMALE

~
PNFEPN®WPRE D

Contact Great Lakes Power Products for special pricing and availability!
LOT AND VOLUME DISCOUNTS AVAILABLE!
Stephen Allen
Office phone: (440) 951-5111
sales@glpower.com
View more of our surplus inventory at
www.glpower.com

Terms and Conditions:

1) All inventory listed is subject to prior sale.

2) All sales are COD unless customer has open account

3) All sales are final-returns only available upon written authorization by GLPP
4) FOB sellers warehouse.



